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(A) Draw Mschematic flow sheet for conventional drinking water treatment plant? (4 Marks)

(B) Pb* concentration would increase from I mole/l to 20 mole/l due to corrosion of lead. What is the
poiential of lead would shift and in which direction? @o of Pb* = - 0.1i Yolts) (4 Marks)

(C) One lihe of water sample contains: (6 Marlis)

88 ppm Ca* as chloride, 122 ppmMg* as sulphate and 2 ppm Fe* as biearbonates and blso contains
9 ppm COz. Treated with lime (530 LElton) and soda (740LBlton), calculate:
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1- Total salts Hardness

2-Totaltreatment cost

(lt'{wt: Ca:40, Cl:35.5, Mg:24, C:12, O:}6, Na:23, H:I,
S: 32, Fe: 56)

(D) In Figure 1,

Calculate the amount of each phase present in 1 kg of 50 wt. %
Ni'50 wt.% Ti ally at:

l- 1400 "c

2-  1100"c
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